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Question 1

The gradient of one of the
straight lines of

ax® + 2hxy + by? =0 is
twice that of the other then

Tfr ax? + 2hxy + by? = 0 77

Question 2

Angles between the pair of
straight lines 5x* + 26xy +
5y +7x+ 11y +2 =0 are

Fraffis To T TeeE
s/ 77 bx? + 26xy + 5y* +
Tx+1ly+2=0

Question 3

The nature of the conic
represented by 4x® — 4xy +
y2—12x+6y+9=0is

4x? —4dxy +y? — 12x+ 6y +
9 = (. spEaeEE s by
=gfe =

Question 4

The centre of the conic 7x* —
2xy + Tyt + 22x— 10y + 7 =
0is

7x? —
2xy +T7y? +22x— 10y + 7 =
0. Fi=ha =

Question 5



The equation of the common

tangent to the hyperbolas
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Question 6

The equation of the circle
which passes through the
point (4,-2) and touches the
straight line 3x+ 4y — 36 =
0 at (4,6) is

(4,-2) Frgendh w=e 3x + 4y —
36 = 0 s=aan= (4,6) fmge
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Question 7

The condition of the straight
line % =Acos6+Bsinb to

be the tangent to the circle
r=2acos0 is

1
?zAcosB + B sin & 7=a @416

r = 2acos B JE = T W

Question 8

If r, and r; be two mutually

perpendicular radius vectors

; - b?
of the ellipse r2 = ————
p 1-e®cos?8 ’
then|
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Question 9



The angle between a pair of
straight lines whose direction
cosines are given by 3Im —
4ln+mn =0 and 2m + 3n =
0is
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0 <=2 2m + 3n = 0. 741 TR F

Question 10

Find the equation of a plane
which passes through the
points (1, 1, 2) and (2, 4, 3)
and perpendicular to the
plane x—3y+7z+5=0.

(1,1, 2) e (2, 4, 3) Bt
T TR [ wa 3t
e x—3y+7z+5=0
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Question 11

The equation of a plane
passing through the points
(1,1,1), (2,-1,1) and (3,1,2) is

(1,1,0), (2,-1,1)e%2(3,1,2)-4% fom
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Question 12

. " x—1
If the straight lines e
E=Z;3au‘id4»x—3y—|— 1=
2 4
0 = bx — 3z + 2 are coplanar
then the equation of the

plane is
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Question 13

Find the equation to the
plane containing the straight
h’ne%+§=1,x=0 and
parallel to the straight line
§—§= 1, y=0, If 2d be the

shortest distance between
the lines, then
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Question 14

The centre and radius of the
circle x2 +y* +z? — 2y —
4z—11=0,x+2y+ 2z =
15 are

X +y* +z° -2y —4z—
11=0,x+2y+2z=15
77 &= ¢ T T

Question 15

The equation of a sphere passing
through the points (1,0,0), (0,1,0),

(0,0,1) and touches the plane
2x+2y—2=15.
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Question 16

To what points must the origin
be moved in order to remove
the terms of the first degree in
the equation 2x* — 3xy +

4y? +10x— 19y + 23 = 07



VR (B [
4O P 2x2 —
3xy +4y2 + 10x — 19y +

23 = 0 STAFT (A
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Question 17

For what values of 'k’, the
equation kx? + 3xy — 5y +
7x+ 14y +3 =107

k g9 (PN WTAT GAT kx? +

3xy— b5yl +7x+ 14y +3=0
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Question 18

Find the nature of the conic
6x2 —5xy —6y® +14x+5y+4=0

6x2—5xy—6y? +14x+5y+4=0
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Question 19

Find the equation of the circle
which passes through the points
(3.4) and (3.-6) and which has
its centre on the straight line
2x+3y=3
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Question 20

Find the equations of the tangents to
the conic x% + 4xy + 3y? — bx —
6y + 3 = 0 which are parallel to the
straight line x + 4y = 0.

x2+4xy+3y2—5x—6y+3=0
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Question 21



Find the equation to the common
tangent of the circle x2 + y? = 4ax
and the parabola y* = 4ax

x% +y? = 4ax I8 4A9C y? = 4dax
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Question 22

If the normal to the hyperbola

Xy = c? at the point (ct;, i)
meets the curve again at the point
(ctz, :—2) then which of the

following is true?
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Question 23

If the straight line ; = Acosb +

B sinf touches the conic f =
1+ e cosB then

ﬂcﬁ L [0 % = A cosbB + B sinf

HIdY ﬁ?f =1+ ecosf
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Question 24

Find the angle between the pair of straight lines whose direction cosines
are given by 3lm —4ln+mn = 0and 1 + 2Zm + 3n = 0.
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Question 25

Find the distance between two parallel planes
2x+5y+4z—12=0and2x+ 5y +4z+ 6=0.

TIG STNISAE TNGE 2x + 5y + 4z — 12 = 0
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Question 26



Find the equation of a plane
containing the four points (0, -1, 0),
(2,1.-1), (L.1.1) and (3,3.0).

(0, -1, 0), (2.1.-1), (L,1,1) &8
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Question 27

Find the shortest distance between the two straight
x—3 }'—B z—3 x+3 y+? z—6
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Question 28

Find the value of k so that the two straight

ﬁnesﬂ_ﬁ_z 3 ]d_ i
2 1 T k4
must intersect. Find also the mtersecting
point.
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Question 29

If the two circles x® + y> + 2 — 2x + 3y + 4z — 5 = 0,5y +
6z+1=0andx®*+y*+z>—3x—4y+5z2—6=0,x+
2y — 7z = 0 are on same sphere then find the equation of the
sphere.

x2+y?4+z22—2x+3y+4z—5=0,5y+6z+1=
0,98 x> +y?+22 —3x—4y+52—6=0x+2y—72=0
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Question 30

Find the equation of a circle passing
through the points (-2.,3,-1), (-2, 1,1)
and (0.-1.3) .

(-2.3.-1), (-2, 1.1) 9% (0.-1,3)
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